  Math 109  Quiz 2    9/7/06    
1. Simplify the following: (leave answers with exponents)
     a.    6 8(67      615         b.  (a+c)7 (a+c)5     (a+c)12
2.  Subtract as indicated:
     (5x4 - 4x2 + 2) - (7x4 - 5x2 –2x  +6)  
                 -2x4 +2 x2 + 2x -4                                                              
3.  Multiply as indicated   a.  (3n+5)(4n-2)   
                                          b.  (y-2)(3y4 - y +5)   

a. 12n2 + 14n – 10       b. 3y5  - 6y4 - y2 +7y -10
4. Factor out the greatest common factor from
       16x5 - 8x3 - 12x4            4x3(4x2 - 2 -3x)
5.  Factor  the following completely:

      a.      b2-16           (b+4)(b-4)
      b.    6x2 – 5x +1     (3x-1)(2x-1)
      c.    a3 -6a2b + 9ab2       a (a-3b)2   or  a (a-3b)(a+3b)         

